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an =
2

T

∫ 2

T

− 2

T

f(t) cos nω0t dt (1)

bn =
2

T

∫ 2

T

− 2

T

f(t) sin nω0t dt (2)

n = 0, 1, 2, · · ·
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cn =
1

T

∫ 2

T

− 2

T

f(t)e−jnω0t dt (3)
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cn = an + jbn

f(t) =

∞
∑

n=−∞

cnejnω0t (4)
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F (ω) =

∫ ∞

−∞

f(t)e−jωt dt = a(ω) + b(ω)
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a. 5-687:98;=<?>

|F (ω)| =
√

a2(ω) + b2(ω) (5)

b. @-A87:98;=<?>
6 F (ω) = tan−1 b(ω)

a(ω)
(6)

B
1: 7:98;=<?>C-D E-D

5-687:98;F<?> G-H-I √

a2(w) + b2(w)

@-A87:98;F<?> G-H-I tan−1 b(w)
a(w)
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y(n) =
1

M

M−1
∑

i=0

x(n + i) (7)

Y[Z:\-]-^-_:`-a-b8ced
y=0.0;

for(i=0; i<0; i++){

y += x(n-1);

}

y = y/M;
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